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Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1. A small mountain lake, especially one that collects in a cirque basin behind risers of
rock material is called a :

(A) Col (B) Arete
(©) Horn (D) Tarn
2. Which one of the following is correct combination of location of volcanic activity ?

(A) Sea floor spreading and hot spots
(B) Subduction boundaries and hot spots
(C) Sea floor spreading and subduction boundaries

(D) Sea floor spreading, subduction boundaries and hot spots

3. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the codes given below :

Assertion (A) : Complexity of landform evolution is more common than simplicity
Reason (R) : Structure plays a vital role in the evolution of landforms

Code :

(A) Both (A) and (R) are true

(B) Both (A) and (R) are true but R is a part of explanation

(C) (A) is true but (R) is false

(D) (R) is true but (A) is false
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4.  Match List I and List II and select the correct answer from the codes given below :

List I List II
(a) Loess (i) Glacial landform
(b) Spits (i) Aeolian landform
() Outwash Plain (iii) Fluvial landform
(d) Natural Levees (iv) Coastal landform
Code
(a) (b) (©) (d)
(A) (i) (i () (iv)
(B) (i) (iv) (i) ()
(©) (i (iv) () (i)
(D) (iv) (i) (i ()
5.  In Plate tectonics the divergent boundaries are characteristic of :
(A) Collision zones (B) Sea floor spreading
(C) Plates slide laterally (D) Upwelling
6.  Which one of the following is the correct sequence of atmospheric layers ?
(A) Troposphere, Mesosphere, Stratosphere and Thermosphere
(B) Troposphere, Stratosphere, Thermosphere and Mesosphere
(C) Troposphere, Stratosphere, Mesosphere and Thermosphere
(D) Troposphere, Thermosphere, Mesosphere and Stratosphere

7. A line connecting all points of highest mean temperature is called :

(A) Thermal equator (B) Continentality
(C) Inter Tropical Convergence Zone (D) Specific heat
8.  Subtropical Jet streams range in altitude form :
(A) 5,100 to 7,100 m (B) 7,100 to 9,100 m
(©) 9,100 to 13,700 m (D) 13,700 to 18,700 m

9.  The Atlantic subtropical high pressure cell is called :

(A)
(©

D —8004

Azores high (B) Hawaiian high
Westerlies (D) Hadley cell
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10.

11.

12.

13.

Occluded front is formed :
(A) In cold fronts
B) In warm fronts
)  When cold front over runs the warm front
D) When both the cold fronts coalesce

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the codes given below :

Assertion (A) : Root osmosis process helps the plants to absorb elements in soluble

form from the soil.
Reason (R)
Code :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

All elements in the first instance get accumulated in the soil.

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

Match List I with List II and select the correct answer from the code given below :

List I List II
(a) Marine Biome (i) Monsoon Decidious forest
(b) Taiga Biome (ii)  Sclerophyll ecosystem
(c) Mediterranean Biome (iii) Phytoplankton
(d) Tropical Biome (iv) Boreal Forest
Code
(a) (b) (©) (d)
(A) (i) (iv) (i) ()
(B) (iv) (i) () (i)
(© (i) (@) (1) (iv)
(D) (@) (i) (iv) (1)

Which one of the following is the correct sequence of ocean bottom topography ?

(A) Continental slope, continental shelf, continental rise, abyssal plain

(B) Continental shelf, abyssal plain, continental rise, continental slope
(C) Continental shelf, continental slope, continental rise, abyssal plain
(D) Continental rise, continental slope, continental shelf, abyssal plain
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14. Which one of the following is the most important factor responsible for decline of
biodwersity ?

(A) Destruction of habitat (B) Genetic assimilation

(C) Controlling pests (D) Controlling predators

15. The term ‘ecosystem” was proposed by
(A) Tanstey (B) Newbould
(C) Stoddart (D) Dasman

16. Match List I with List II and select the correct answer from the code given below :

List I List II

(a) Concept of Geographical Pivot of History (i) Brunhes Jean
(b) Cosmographia Universals (ii) Penck Albrech
(c)  Morphologie del Erdober Flache (iii) Munster Sebastain
(d) Geographic Humaine (iv) Mackinder Halford J.
Code
(a) (b) (©) )
(A) (i) (iv) (i ()
(B) () (i (iv) (i)
(©) (iv) (i) (i) ()
(D) (i () (i) (iv)
17. The term cosmography was coined by
(A) Mackinder Halford J. (B) Hamboldt Alexander von
(C) Kant Emmanuel (D) Ptolemy

18. Determinism emphasises
(A) The dominent influence of physical environment
(B) Anthropocentric orientation
(C) Earth in relation to history and nature
(

D) Comparative regional geography

19. The duality of geography between physical geography and geography of man is called
(A) Possibilism (B) Determinism

(C) Dualism (D) Anthropogeography

D —8004 8
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20.

21.

22.

23.

24.

Who differentiated between ‘General” and ‘Regional” geography ?
(A) Richthofen (B) Friedrich Ratzel
(C) vidal de la Blache (D) Jean Brurihes

Who coined the term megalopolis ?
(A) M. Jafferson (B) J. Gottman
(C) J. Carter (D) Preston James

Match List I with List II and select the correct answer according to christaller’s theory
from the code given below :

List I List II

(a) Market Hamlet (i) 36 kms apart
(b) Regional capital city (i) 12 kms apart
(c) District city (iii) 7 kms apart
(d) Township centre (iv) 186 kms apart
Code

(a) (b) (©) (d)
(A) (iv) (1) (i) (@)
(B) (@) (i) (iv) (1)
(©) (i) (iv) () (i)
(D) (i) (1) (iv) (@)

Which one of the following is missing in classifying a settlement as a town in the census
of India

(A) Population size (B) Population density

(C) Dominence of male worker participation (D) Functions

Who is a marginal worker according to the Indian census data on luclihood class of
workers ?

(A) Person who works for 250 days in a year

(B) Person who works for less than 180 days in a year
(C) Person who hardly works through out the year
(D) Person who works for less than 60 days in a year

8004 10
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25.

26.

27.

28.

With which one of the following is rank-size-rule associated
(A) Rural-urban fringe (B) Urban settlements
(C) Rural settlements (D) Metropolitan cities

Weber’s material index refers to
(1) Cost of raw materials

(2) Cost of finished product

(3) Weight of raw materials

(4) Weight of finished products

Code :
(A) (1) and (2) are correct (B) (1) and (3) are correct
(C) (2) and (4) are correct (D) (3) and (4) are correct

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R). Select your answer from the codes given below :

Assertion (A) :  Weber’s theory revolves around transportation costs but misses the
point that freight rates may not always be directly proportional to the

distance.

Reason (R) : The freight rates may not be similar for raw materials and finished

goods.
Code :
(A) Both (A) and (R) are correct and (R) explains (A)

(B) Both (A) and (R) are correct but (R) does not explain (A)
(C) (A) is correct but (R) is false
(D) (A) is false but (R) is true
Match List I with List II and select the correct answer from the code given below :

List I List II
(a) Least square method (i) Rafiullah
(b) Maximum distance method (i) Ayyar
() Crop and live stock combination (iii) Weaver
(d) Application of Lorenz curve (iv) Coppock
Code :

(@) (b) (©) (d)

(A) (@) (i) (i) (iv)
(B) (i) (1) (iv) ()
(© (@) (iv) (i) (iif)
(D) (1) (@) (iv) (i)
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29.

30.

31.

32.

33.

34.

Which one of the following is not a regional infrastructure
(A) Roads (B) Communication lines

(C) Canals (D) Central Business District

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the code given below :

Assertion (A) : In Von Thyren’s model each zone specialises in the production of those
agricultural products to which it was best suited

Reason (R) : Von Thyren did not conceive the combinations of specialised
agricultural enterprises and the live stock

Code

(A) Both (A) and (R) are true and (R) explains (A)

(B) Both (A) and (R) are true but (R) does not explain (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Which one of the following is more responsible for retarding cultural assimilation in
India

(A) Religious structure (B) Linguistic structure

(C) Economic structure (D) Ethenic composition

Re-organization of States of India in 1956 was carried out on the basis of :
(A) Graticules (B) Language

(C) River basin (D) Resource endowment

Mackinder introduced the theory named
(A) Kosmos (B)  Unity in diversity
(C) Heartland theory (D) Theory of evolution

Who used the term ‘rimland” in his geostrategic concept
(A) Alexander de seversky (B) James Fairgrieve

(C) Mackinder (D) Spykman

D —-8004 14
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35.

36.

37.

38.

Which combination of the following tribal combinations is confined to a single state of
northeast India

(A) Khasi-Nagas (B) Garo-Khasi

(C) Naga-Mizo (D) Khasi-Mizo

The concept of “Spread” and “Backwash” effects was introduced by
(A) A.O. Hirschman (B) Gunnar Myrdal

(C) Gunder Frank (D) Sameer Amin

An attempt to delineate India into planning regions was made by

(A) National Atlas and Thematic Mapping Organization (NATMO)
(B) Town and Country Planning Organization (TCPO)

(C) National Council for Applied Economic Research (NCAER)

(D) National Institute of Planning and Administration (NEPA)

The following statements explain the causes for regional imbalances in less developed
countries : Find the correct combination from the code given below :

(a) Regional variations in resource endowment
(b) Disparities in levels of industrial development
(c)  Variations in geomorphological features

(d) Distortions in the urban hierarchy

Code :

(A) (a), (b) and (d) are correct

(B) (a) and (b) are correct

(C) (b) and (c) are correct

(D) (b), (c) and (d) are correct
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35.

36.

37.

38.

o snfearel Tl 4 & i woe So g % € e i ¥
(A)  @rE-TRT (B) TRI-WrHt
(C) ArT-HisH (D) TG-S

“TYE” T “AHIR” THae hi Hohedql fme" yafad &) o :
(A) Tl oA (B) TR fie™
(C) =X ik (D) THR 37

AR k! TS &9 1 faafsa 6 o1 yare forem foran o
(A) A eaw Ug foiifess AR STEMESITE (NATMO)
(B) < TS gl WA AMARS®H (TCPO)

(C) A FHRAEA B HIARS gehHiaE &9 (NCAER)
(D) \¥Fel SHRS[E ATh W T8 TSRS (NEPA)

Frefafea wem fre fosfaa <o 8 &g TEqer™ & SR &t el & g1 9 fag e

Hie | 9 TE T T

(a) HEEA % giaeH | &ty fafiea
(b) 3 forerre o &l | forowan

(c) yifaen sifcreron # fafvema

(d) fowfud T sAfespierd

(A) (@), (b) 3T (d) W E
(B) (a) 3R (b) T
Q) (b) 3R ()T
(D) (b), (c) 3 (d) W& &
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39.

40.

41.

42,

Match List I with List IT and give the correct answer from the codes given below :

List I List II

(a) Settlement Hierarchy i) W. Christaller
(b) Regional Analysis (i) Walter Isard
() Growth Role Theory (iii) W.W. Rostow
(d) Stages of Economic Growth (iv) F. Perroux
Code

(a) (b) (©) (d)
(A) (i) (iv) (1) ()
(B) (@) (1) (i) (iv)
(© (@) (i) (iv) (i)
(D) (iv) @) (i) (1)

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the codes given below :

Assertion (A) : Balanced regional development strategies at national level do not
necessarily lead to rapid growth of the national economy in the short
run.

Reason (R) : National economic growth strategies are based on economic efficiency
criteria and not on regional balance criteria

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(C) (A)is true, but (R) is false

(D) (A) is false, but (R) is true

Which one of the following States in India has highest percentage of tank irrigation ?
(A) Andhra Pradesh (B) Tamil Nadu
(C) Karnataka (D) Maharastra

Which one of the following States is producer of Mica
(A) Karnataka (B) Orissa
(C) Jharkhand (D) Maharastra
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39. I q e 11 61 gaferd wifvd ok e fed e 9 o8t s g

et 1 et 11
(a) oA Fofiega () <Y PhEeer
(b) & fagetwor (ii) ST IES
(c) o ya fagia (ili) TIY TIATY
(d) o7 gfg etemen (iv) TH I&H
e :
(a) (b) (©) (d)
(A) (i) (iv) (i) (i)
(B) (i) (i) (i) (iv)
© () (i) (iv) (i)
(D) (iv) (1) (i) (i)
40. = 3 oA U 2, Th I FYT (A) F-1 T § SR G hT FRO (R) | fo3 73 Ghrat § 9
ST W A
FUA (A) T TR W Aeqwd § gfera &g fom &t wHifar fieea &9 9
et eTifefer gfg el 9T et §
I (R) T e gfg i Tomifaar snifefe e o stfireraronl W smefid S
¥ 7 for yrefores dqem & et @)
%< :
A) (A) T (R) ST Tl & AR (A) T T TSR (R) §RT feran §

B) (A) T (R) TF1 Tl € 3R (A) 1 Tl TIEH (R) & &
(A) Hér% g R)vaa%
D) (A)7ed ¥, fhg (R

8]

(
(
(
(

41. 9RAaY % forg T o =9 gfaed diene fo=m €2

(A) Y T (B) dfHarATg
(C) wAfeh (D) WENI
42. 99 9 9 ®F 9 T A1YH H AR HAl §?
(A) HAleH (B) 3EtEn
(C) =nEvs (D) Wensg
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43. Match List I with List II and select the correct answer from the code given below :

List I List II
(Level of Urbanisation States
in percentage of 2001)
(a) 42.40 (i) Punjab
(b) 25.97 (ii) Bihar
(c) 10.47 (iii) Kerala
(d) 33.95 (iv) Maharastra
Code
() (b) (©) (d)
(A) (iv) (i) (i) ()
(B) (1) (i) (1) (iv)
(© (iv) (i) (1) (iif)
(D) (i) (iv) (i) ()

44. Which one of the following regions is known for high frequency of landslides
(A) Himalaya (B) Eastern Ghats
(C) Western Ghats (D) Satpuras

45. Which one of the following city has a steel plant ?
(A) Bhopal (B) Hyderabad
(C) Coimbatore (D) Hospet

46. Which one of the following techniques is suitable for measuring the extent of association
between two variables ?

(A) Lorenz curve (B) Karl Pearson’s correlation

(C) Location quotient (D) “t test

47. Which one of the following sampling method is suited for a family planning survey in
a district where a sample of 1,000 households has to be selected from the total of 25,000
households living in both rural and urban areas

(A) Random sampling (B) Systematic sampling
(C) Stratified sampling (D) Cluster sampling
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43.

44.

45.

46.

47.

=T 1 ! = 11 9 gafard sifsre den o3 7@ 62 9 98t S| g
g 1 Tl 11
(2001 ® ARRIGRTUT ShT &I AFa9Td ) (=)

(a) 42.40 () =
(b) 25.97 (i) feR
(c) 10.47 (i) R
(d) 33.95 (iv) HENE
e

(a) (b) (©) (d)
(A) (iv) (i) (i) (i)
(B) (i) (i) (i) (iv)
©) (iv) (i) (i) (i)
(D) (i) (iv) (i) (i)

e & @ fore wew ¥ JRaa STah tfus 72

(A) Terrer™ (B) YaTETE
(C) ufy=st = (D) WYsI

= 8 9 %9 9 el § 3o SE ST fed 2
(A) (B) TER
(C) wIEHAR (D) ®mHe

T = % WY He-geH A % fAU SUH qohh i 2
(A) WS TH (B) it TR We-deiy
(C) <Th¥H i (D) 3Tk W Heiy

TG e | ST 25,000 9RERt & 1,000 9RERT 1 wfaest g1 21 a-t gRar s gdermn g
=1 1 | i gfaest fafy Sog 3 72

(A) Igfess gfaes () frafta e
(C) wwfa faes (D) THE Hfaew
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48. Which one of the following requirements is not correct for testing distributions with the
help of Chi-square Test ?

(A) The data must be in the form of frequencies

(B) The total numbers observed must not be more than 20
(C) The expected frequency must not be less than 5
(D) The observation must be independent

49. In GIS the polygon referes to

(A) a homogeneous representation of a 3 D space

(B) a hetereogeneous representation of a 2 D space
(C) a homogeneous representation of a 2 D space
(D) a hetereogenous representation of a 3 D space

50. Match List I with List II and select the correct answer from the code given below :

List I List I
(a) Mean (i) Composite index
(b) Frequency curve (i) Measure of central tendency
(c) Principal component (iii) Network analysis
(d) Connectivity matrix (iv) Graphical Representation
Code

(a) (b) © (@
(A) (i) (i) (iv) ()
(B) (i (iv) () (i)
(©) (iv) (i) (i ()
(D) () (i (i) (iv)

-00o0-
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48.

49.

50.

FE-THARR T& & aR | f= § § o foawont & aftemr & faw o 78 82
(A) ihe i & w9 # 2 =1y

(B) firlt Wl T 20 § Aferm A &

(C) eTfea sTefaai 5 | &9 7 &

(D)  T&Iv T ST AfEy

S, oTE. T, | gy (WiferT) 5 21k ¥
(A) 3D 9 & GHE YSIH
(B) 2D TH I fawmedt yeuH
(C) 2D 9 &l Gu&dl JeIH
(D) 3D &9 F fawmedt yeoH

= < Tl = 1 g 19 gafad SN &R Fe fed T % 9 oo W g

gl I et 11

(a) HIEA () EIH Hohah
O CEED (i) HT Yepld T GHT
(c) UM ®Eh (iti) HeeTeh foweryom
(d) G Afged (iv) T g3
e

(a) (b) (©) (d)
(A) (iii) (ii) (iv) (i)
(B) (if) (iv) (i) (i)
© (iv) (iii) (ii) (i)
(D) (i) (if) (iii) (iv)

-00o0-
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